Exercice  43
Calcule  la  division  posée.  
Puis,  complète  l’opération  en  ligne.  
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508  ÷  40  c’est  (  40  x [   ] )  +  [   ]  =  508

Exercice  43
Calcule  la  division  posée.  
Puis,  complète  l’opération  en  ligne.  
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627  ÷  30  c’est  (  30  x [   ] )  +  [   ]  =  627
Exercice  43
Calcule  la  division  posée.  
Puis,  complète  l’opération  en  ligne.  
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481  ÷  52  c’est  (  [   ] )  +  [   ]  =  481


Exercice  43
Calcule  la  division  posée.  
Puis,  complète  l’opération  en  ligne.  
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854  ÷  24  c’est  (  [   ] )  +  [   ]  =  854


